SARMEOLA 6 MONSELICE A 2
RISULTATO SET TOTALE
SQUADRA A SQUADRA X 2 3 5 SET PUNTI |PARTITE
A XITA| XA X|AI XA X A XA X|A|X
A |ATAYEBI X |BELLOTTO 4 11111114 119 12|10 3111383410
B |[PASTORIO Y |PERARO 11,2 |11/ 9 |11 8 3/ 01(33/19|1]0
DP|ATAYEBI-PASTORIO DPBELLOTTO-NEGRELLO|( 11| 9 |11 9 |11 | 8 3101(33/26| 1 0
C [ESPOSITO Z |SANTATO 8 |11 7 111311 8 | 11 113[36(44| 0 | 1
B |IPASTORIO X |BELLOTTO 1411211 5 |11| 6 3/ 01(3(23/1|0
A |ATAYEBI Z |SANTATO 1|5 (11,9 |8 |11 8 |11 6 |11 2 | 3 |44 47| 0 | 1
C [ESPOSITO Y INEGRELLO 11,9 |11/6 [11| 9 3/ 01(33/24/1]|0
B |IPASTORIO Z |SANTATO 113 (1114 |9 |11/11] 9 31 1142|27/1|0
C X 00
A Y 00
TOTALI| 21| 8 |295/244| 6 | 2




